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V1: 343 cm? V2: 373 cm? P1:5.5 bar P2:12.3 bar

Oop =P_-P.=123-55=638

Vi:20 cm?  (From calibration curve)

L=22cm Di = 5.45mm

V.= (LD ?/4) -V, = (3.14 x

oV= V2—V1:373-343:30 cmd

( Steel pipe)

22x545%/4)-20=492 cm’

V| =2V, +V_=2(343) + 492 = 1178 cm?

V= Vm + Vc =358+492 = 850 cm?

u= 0.3 (forexample)

Eovr = 2(1+u) x V (0p/ov)
= 2(1+0.3)(850)(6.8/30)=500 bar 0R kg/cm?

p.=((1/V.-1/V,)(P,-P,)/(1/V,-1/V,))+P,
= ((1/1178-1/520)(21.3-20.2))/(1/520-1/480))+21.3=28.7

GIPT3

Ground Pressumeter Test

V_=(V,+V,)/2=(343+373)/2=358 cm’
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